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fd? a9y @vg & Ty yo71 &1 G&T H7 7 7 HT JI1F 197 577 F0ET |
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General Instructions :

(i)
(ii)

(iii)

(iv)

(v)

(vi)

(vii)

346

Please read the instructions carefully.

This question paper consists of 24 questions in two Sections : Section A
and Section B.

Section A has Objective type questions, whereas Section B contains
Subjective type questions.

Out of the given (6 + 18) = 24 questions, a candidate has to answer
(6 + 11) = 17 questions in the allotted (maximum) time of 3 hours.

All questions of a particular section must be attempted in the correct
order.

Section A : Objective Type Questions (30 marks) :

(a)  This section has 6 questions.

(b)  There is no negative marking.

(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.

Section B : Subjective Type Questions (30 marks) :

(a)  This section has 18 questions.

(b) A candidate has to do 11 questions.

(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.

Section A
(Objective Type Questions) (30 Marks)

Answer any 4 questions out of the given 6 questions on Employability
Skills. 4x1=4

i) What is meant by ‘workbook’ ?
(i1)  Define ‘motivation’.

(iii) A person suffering from mental condition of ‘Paranoia’ is called

(a) Insane (b) Paranoid
(¢) Obsessive (d) Narcissist
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(iv) el + C HeRM 2
(a) Towa =1 & HifSY (b) Towm = U Hifsg
(¢) fawa < w1t ST (@ fowa i vus HifSe
v) T=fafea & @ sH-a1 sufyd wiva 7587 2 2
(a) o (b) SIREH 33FT
() Tedl (d) e

(vi) HIEd U Farll g | 38 Gl sl A1 Jagesh g ohan | 9 &,
Uesh
(a) Wil W s sAfh

(b)  <hISTA SHIHTR
(c) Il
(d) =TIgrh

2. feunu 79wl 4 @ Rl 5 99t & IR AR | 5x1=5
(i) 9T 80C o IA=diid sheldl shl 3Tfehaq TR &1 3 2
(i)  9fc foharTar 40% & AT4U® T 80% | HH g, a1 91 80U o 3T=avia

Hldl hI 37ferehan ST = g} 2
(a) T 75,000 b) T 1,25,000
(¢) ¥ 1,50,000 (d) ¥ 50,000

(iii) 9T SOE & 3T=did Sheldl bl ST hi h{ Hhdl & ?

(iv) ‘Od FA T B B
(a) o0 80C ® 80U T held! & d gt 3fiehi &l o1 T |
(b) €W 80C ® 80U Teh held! o UI=Td 3T |
(c) T hldt A Id Hehel o |

(d) | heldl o I g o |
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(iv)  The function of Control + C is :
(a) Cut the matter (b) Paste the matter
(c) Copy the matter (d)  Print the matter

(v)  Which of the following is not an entrepreneurial skill ?
(a) Patience (b)  Risk-taking

(c) Perseverance (d)  Greedy

(vi) Mohan is a businessman. He appointed Sohan as his manager.
Sohan is a/an :

(a) Wage employed person
(b) Skilled worker
(c) Entrepreneur

(d) Businessman

2. Answer any 5 out of the given 7 questions. 5x1=5
(1) What is the maximum amount of deduction under Section 80C ?

(i1) What is the maximum amount of deduction under Section 80U, if
disability is more than 40% but less than 80% ?

(a) < 75,000 (b) ¥ 1,25,000
(¢) < 1,50,000 (d ¥ 50,000

(111)) Who can claim deduction under Section S80E ?

(iv)  ‘Gross Total Income’ is :

(a) Total of income from all heads before deductions under
Sections 80C to 80U.

(b) Income after deductions under Sections 80C to 80U.
(c) Gross salary before Standard Deduction.

(d) Net salary after Standard Deduction.

346 Page 5 of 19 P.T.0.
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(v) 9T 80G % 3T=dild sheld! ford 3Ie2T o TIU Iuciey 7 ?
(a) fafsmse sl & forw a@
(b) Wfswar s Hfrm
(¢) SHad sfmn fiftem
(@ TAfése St & wror famanman

(vi) ‘P A & F1 AL g ?

(vii) 9T 80DD % SA=Hid el o g ol fohd 3 o foru fopam Sram 3 2
(a) T3ram ==or & fofu
(b) faepetrman = ferg
() Tomammar & difga onfsa & samat @ forw
(@ ufswa s fifiem & forw

3. fquwm 7wl 4 @ fopdl 6 Tl % I G | 6x1=6
(i) YU X IgId o AR Al LSS AWTHER hi fehat 3T T T & ?
@) T 2,50,000 (b) T 3,00,000
¢ I d)  5,00,000

(i) 9 112 % 3T=d Feag Tayfadi T reehiena Yoiia amd 92 T i
CRIR

(i) T (ged) qor fnef Iust hl W 2 -

(a) 10% (b) 20%
() 15% (d) 4%
(iv) ¥ Toh HUS H T G HUS b i T T AIIR HT W 8 :
(a) 10% (b) 15%
(© 25% d) 37%
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(v)  For what purpose is deduction available under Section 80G ?
(a) Donation to specified funds
(b) Medical Insurance Premium
(¢) Life Insurance Premium

(d) Disability on account of specified disease
(vi) What is meant by ‘Total Income’ ?

(vii)) For what purpose can deduction be claimed under Section 80DD ?
(a) For education loan
(b) For disability

(c) For expenses on medical treatment of a dependent suffering
from disability

(d) For Medical Insurance Premium

3. Answer any 6 out of the given 7 questions. 6x1=6

1) Under the old tax regime, what is the maximum amount of income

exempt from tax for a super senior citizen ?
(a) ¥ 2,50,000 (b) ¥ 3,00,000
(¢c) Nil (d) ¥ 5,00,000

(iil) What is the rate of tax on Long-term Capital Gains on listed
securities covered under Section 112 ?

(111) The rate of Health and Education Cess is :
(a) 10% (b) 20%
(¢c) 15% (d) 4%

(iv) The rate of surcharge on income between < 1 crore and ¥ 2 crore is :
(a) 10% (b) 15%
() 25% (d 37%
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(v) &/ 115BAC f= & @ forg @ wafya @ 2
(a) 3 L STGEAT o F=aild L hl &L
(b) YU h SEEAT & Fraid L hl &
(¢) Sid W Ed W H Fard! i ¢
(d) Ifayfaai T SIS 9L k! hl &L

(vi) 9T 87Ah F=d B2 e & AT & ?
(a) If¢ T ATT 3T T 5 A b 3 (ot fHart safwai & fow)
(b) I X AT I T 10 ARG T 3
(c) & AW T 50 ATG | ATk 3
(d) 9T T TH HUS T AMTS 3

(vi)) STTUWR TAT ITHL o ToHT Tepell SRR h1 AT T T 1 TfIhan AT

TG ?
(a) 5% (b) 20%
© 15% d 30%
4. fou T 6 w1 # @ fopdl 5 Tl o IR FINT | 5x1=5
(i)  ATHI 9 |G W L et shl H T R
(a) ¥ 15,000 (b) ¥ 5,000
(¢ ¥ 10,000 (d) IS AT &l
(i) 99 9 3T W Al T HL held] ol JHTT hiH-81 BH 3 ?
(a) M 12BA (b) ®H 12BB
(¢ M 16 (d) T 16A
(iii) ST W =S 9 AT T AR Dl hl R 3
(a) 5% (b) 10%
() 30% (d) 20%
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To which of the following is Section 115BAC related ?
(a) Tax rates under new tax regime

(b) Tax rates under old tax regime

(c) Rate of TDS on winnings

(d) Rate of TDS on Interest on Securities

When is the rebate given under Section 87A ?

(a) Iftaxable income is up to ¥ 5 lakh (only resident individuals)
(b) Iftaxable income is up to ¥ 10 lakh

(¢) When income exceeds ¥ 50 lakh

(d) When income exceeds T 1 crore

What is the highest rate of tax applicable to an individual without
Surcharge and Cess ?

(a) 5% (b) 20%
(¢c) 15% (d) 30%

The threshold limit for TDS on dividends is :
(a) ¥ 15,000 (b) ¥ 5,000
(¢) ¥ 10,000 (d)  No limit
Which form is the proof of TDS in case of income from salary ?
(a) Form 12BA (b)  Form 12BB
(¢) Form 16 (d) Form 16A

The rate of TDS on Interest on Securities is :
(a) 5% (b) 10%
(c) 30% (d) 20%

Page 9 of 19 P.T.0.
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(v) TorE 910 & ST=ald ATHT 3T W Gid T L heldl shl SATdt @ 2
(a) 1T 192 (b) €T 192A
(¢c) 1T 194 (d) T 194A

(v)  SToRITST ShHT o YT hil TR U H fohed dafed g ?

(vi) M T YAM &l i <hl €T #1382

5. feu w6 wwAl # § fohegl 5 991 % IR T | 5x1=5
(i) %G U9 94T L H R TR g ?
(a) JcI& HL (b)  AYIH
(c) SeTHITSEE o (@) ToeriEar
(i) % U@ ¥4 T AT 1A @
(a) gl
(b) Heradi

(c) oEgaT qUT TaT3Ti gHl T
(d) 3cdTed sk W

(ifi) I%] U TaT L o A=A IcohH TUR OF T 8 2

(iv) o Td T T o Teh 3e3T I oo iy ?
(v) Trafafes # @ avg vd T = @ for Scarei b1 g2 § 2

(a) TS g4 (b) A
(c) THEIEd HieH (d) TI-HEIR

(vi) 39 SEIES I A1 ST S 9% Td Hal L o =i Geiehtul & oy
ATETH B |
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(iv) TDS on dividend income is deductible under which Section ?
(a) Section 192 (b) Section 192A
(¢) Section 194 (d) Section 194A

(v)  The phrase ‘Pay-as-you-Earn’ is related to what under the Income
Tax Act ?

(vi)  What is the threshold limit for non-payment of advance tax ?

5. Answer any 5 out of the given 6 questions. 5x1=5

(1) What form of tax is GST ?
(a) Direct Tax (b) Indirect Tax

(c) Intermediate Tax (d) Luxury Tax

(ii) GST is imposed on :
(a) Goods
(b) Services
(¢) Both Goods and Services

(d) Production Process
(iii) What is the reverse charge mechanism under GST ?
(iv)  State one objective of GST.

(v)  Which of the following products is exempted from GST ?
(a) Fresh milk (b)  Computers
(c)  Processed food (d)  Air-conditioner

(vi) Name the document that is required for registration under GST.

346 Page 11 of 19 P.T.0.
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6. feuTw 6wl # 4 fordl 5 T34 o ST EIT | 5x1=5
(i) 9N 80GG % 3F=dild heldl o T e 2

(a) TH ARE g g fommn van 981 faeran og =) & fore foeao
ST TAM hd &, Dl el |

(b) WM TR 9l o faeg WehM FRUT o WA o1 e |
(c) I foeRma o fofw sl |
(@) Fifése st % forg gm |

(i) 9 112A % F=Td T W EERIC G AT hl HL 2

(a) 15%

(b) 20%
(¢) T 1,00,000F Afes W 10%

(d) 10% gqre

(iii) % L FAEAT h AT ITed &l B AT heldl/Ge h hig &l GBI
CUE
(iv) 1M T 1 YT feha-t foreat § < gIaT 8 2

(a) 3
(b) 4
2
5

(c)
(d)

(v) 9% Ud ¥aT1 L 959 961 | foha 31k 8Id & :
(a) 15 (b) 10
() 12 d 9

(vi) STR-TSAT TYfd 1 a1 379 § ?
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Answer any 5 out of the given 6 questions.

(1)

(i1)

(iii)

(iv)

(v)

(vi)

The purpose of giving deduction under Section 80GG is :

5x1=5

(a) Deduction to individuals who do not receive HRA but are

paying rent for the house.

(b) Deduction on account of rent paid for house against House

Rent Allowance.
(c) Donations for Rural Development.

(d) Donations for specific funds.

The rate of tax on Long-term Capital Gains on shares under Section

112A is:
(a) 15%
(b) 20%

(c) 10% on excess of T 1,00,000
(d) 10% flat

Name any two deductions/exemptions not available under the new

tax regime.

Advance tax is payable in how many instalments ?
(a) 3

(b) 4
() 2
d 5

GST Identification Number has how many digits ?
(a) 15 (b) 10

() 12 d 9

What is meant by intra-state supply ?

Page 13 of 19
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Qs @

(Tore=rowes w9ar) (30 31eR)
TSR HIVeT X 130 70 5 991 4 @ a1 8 o1 & I 9@ | i J97 &1 I
20 - 30 7551 7 T / 3%9=6

7.  SAfthed IR Bl G HH 6 fheal gl =N 1 Ioci@ HIT |

8.  ATCH-ITEHAT hl TH o I dTd JUH Gl =N o1 Iooi@ hiTT |
9.  ‘UieRTaTge UsieIM 1 T AL 7 ?

10. U 1feaase o fou Jufiar «i dgwyul § ?

11. UTH O%a Ul o fohegl g TUT ! HEY § THSAST |

fow @ 5 y971 § & 61 8 ¥941 & F¢ 20 - 30 el 4 5w | 3x2=6
12. 90 80CCD (1B) % WYl hl WY |

13. oW1 80QQB % IT=ATd Helldal hl THIATST |

14. 970 115BAC % 3T=07d =5 oL YOIl oh Fwaiid @] L GU ohl THEY |
15. Hid T L heldl o qag § B 15T, FI1 g ?

16. 9% U Hal L ATATRM o 1=dia Y H-ATT SRR i girivg Hife |

ow 77 8 Y971 7 & 6T 2 ¥991 & 3¢ 30 — 50 Feel 7 5w | 2x3=6
17. fusd 2021 — 22 99 & fou weg bt g a1 o -

-
IqT | A (A heldl o I9Tq) 10,00,000
Hehd I & 3T 1,00,000
3T o Toshd W SreehIaiA IS AT 80,000
S wirsy e Teem 1,40,000
T.T4.5M. R Elig 20,000

L Tgitor ad 2022 — 23 o ToIT Iweht KT AT (AT hT Tghd) i o i |
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Section B

(Subjective Type Questions) (30 Marks)

Answer any 3 questions out of the given 5 questions on Employability Skills.
Answer each question in 20 — 30 words. 3x2=6

7. State any two steps to overcome personality disorder.
8. State the first two steps towards self-awareness.
9. What is meant by ‘PowerPoint presentation’ ?

10. Why is entrepreneurship important to an economy ?

11. Briefly explain any two qualities of a successful entrepreneur.

Answer any 3 out of the given 5 questions in 20 — 30 words each. 3x2=6
12. Explain the provisions of Section 80CCD (1B).
13. Describe the deductions under Section 80QQB.

14. Explain the tax rates applicable under the new tax regime under Section
115BAC.

15. When is Form 15H used in reference to TDS ?
16. Define ‘Small Taxable Person’ as provided in GST Act.

Answer any 2 out of the given 3 questions in 30 — 50 words each. 2x3=6

17. X has the following incomes for the previous year 2021 — 22 :

T
Income from salary (after Standard Deduction) 10,00,000
Income from House Property 1,00,000
Long-term capital gains on sale of shares 80,000
Contributions to Public Provident Fund 1,40,000
Purchase of NSG 20,000

Complete the tax liability (old regime) for the assessment year 2022 — 23.
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18. =fFAl o fow st fafor a8 2022 — 23 & U AW X gram 1 7 fafy
qT g TR ! FHAST |

19. I%] U §a1 H ATAHEH o ST=aid AN AlSHT SFFTERN hl FHSART |

30 77 5 ¥991 7 G f81 3 Fo41 & I 50 — 80 gl 7 Ffaiw | x4=12
20. o FgR0 a9 2022 — 23 ¥ FaEYG =1 foawon @ T i g A hi T

HIT |

-

g 111A o 3T=q7ia Acurats GSiTd Ay 2,00,000

A il 9 A= 90,000

Sretate gefira oy (To) 1,00,000

S wiersy ff 7 e 1,20,000

Staaref} & S W Afeaad Sfar fftem 20,000

21. o Fgio a¥ 2022 — 23 & faw = foewon @ 3g o i T il

-
Tehd TURT d 3T 4,00,000
3Tt < forsht & Srafafer 4o oW (112A) 20,000
.0, 6 Gl 1,40,000
o Wt TSR TEd i § gH 10,000
22. N fFuiw a¥ 2022 — 23 & fou = foeron @ w6t H eI i IO
sHifre
-
A il ¥ A= 11,00,000
g 112 % IT=ATId Creehlat | JeiiTa oy 1,20,000
g 111A ST STCIhICHH GSITd ATH 50,000
Ated ¥ S 50,000
€10 80C ¥ 80U o 3T=id sheld] 2,00,000
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18. Explain the due date and the amount payable of Advance Tax by an
individual for the assessment year 2022 — 23.

19. Explain the concept of Composition Scheme in GST.

Answer any 3 out of the given 5 questions in 50 — 80 words each. 3Ix4=12

20. From the following details for the assessment year 2022 — 23, compute net

income of X.

>
Short-term capital gains under Section 111A 2,00,000
Income from other sources 90,000
Long-term capital gains (gold) 1,00,000
Contribution to Public Provident Fund 1,20,000
Mediclaim insurance premium on life of spouse 20,000

21. Compute net income from the following details for the assessment year

2022 — 23 :

=
Income from house property 4,00,000
Long-term capital gains on sale of shares (112A) 20,000
Purchase of NSG 1,40,000
Donation to Prime Minister’s National Relief Fund 20,000

22. Compute the tax liability of X from the following details for the assessment
year 2022 — 23 :

=
Income from other sources 11,00,000
Long-term capital gains under Section 112 1,20,000
Short-term capital gains under Section 111A 50,000
Winnings from lottery 50,000
Deductions under Section 80C to 80U 2,00,000
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24.

346

EE
=

L Fagttor o 2022 — 23 % forw f foewon @ wag (81 W) it 1fim & e
o R HE Bt AT IGehl L ATIET Rt 6T TOFT HIfSTT

-
Thel A 3T 22,00,000
g0 80C ¥ 80U deh L sheldl 3,40,000
Hid W T Herd! 1,80,000

AETS h THF + 3cq1G & hl 1,000 $HTS HMHYL & T8 Sl T 100 T IS W
St | 9% TF HaT R 18% 7 | Ig Tohd TR 1 AMYfd g ? Sieleh | &g T
T L T8 TR eIl ST 2
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24.

346

EE
=

From the following details for the Assessment Year 2022 — 23, compute

when and how advance tax is payable by X (81 years) or refund is due to

him.

>
Gross Total Income 22,00,000
Deductions under Section 80C to 80U 3,40,000
Tax deduction at source 1,80,000

X of Lucknow sells 1,000 units of Product A to Y of Kanpur at the rate of
T 100 per unit. Rate of GST is 18%. What kind of supply is this ? How will

GST be shown in the invoice ?
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